PCS-CFW11 |||Eg

18|

o o
e
L

“ @ [E w = ﬂﬂ VECTRUE INVERTER

() 3 C .y

A
)

Clamp A

Abrazadera
Abragadeira

Screw M3 x 8
Tornillo M3 x 8
Parafuso M3 x 8

Clamp
Abrazadera
Abragadeira

Screw M4 x 35
Tornillo M4 x 35

Parafuso M4 x 35 y

Screw M4 x 12

Tornillo M4 x 12 ~

Parafuso M4 x 12

Spacer M3 x 5.8
Separador M3 x 5.8
Espacador M3 x 5.8

Control Cables
Cables de Control
Cabos de Controle

Power Cables
Cables de Potencia
Cabos de Poténcia

S

Remote HMI
HMI Remoto
HMI Remota



	Sheet3
	Drawing View8
	Drawing View10
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36


